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GEP413: WATER RESOURCES PLANNING - DECEMBER 2019

SECTION A: COMPULSORY QUESTION
Question 1

a) ‘Money has a time value’. Discuss the validity of the statement in the context of water
resources planning. (8 marks)

b) Differentiate between a sunk cost and a salvage value. (12 marks)

¢) An frrigation scheme is considering buying a water pump. Two alternatives are
available as shown in the Table 1 below, Assuming an interest of 7% annually, use
the uniform annual cash method to choose which water pump is the best alternative.

Table 1: Two alternatives for water pumps

_ Pump A ‘ Pump B
Initial cost E7000.00 E5000.00
End-of-useful-life salvage value | E1500.00 E1000.00
Useful life, in years 12 6
(20 marks)
(40 Marks)
SECTION B: ANSWER ANY TWO QUESTIONS
Question 2
a) Discuss the consequences of not planning in water resources. (10 marks)
b) Discuss the stages of planning in the sector of water resources. (20 marks)
(30 Marks)
Question 3
a) Explain the steps required in estimating rural water demand. (15 marks)

b) The current population of a certain township is estimated to be 25 000, The water use
is estimated to be 250 litres per capita per day. Estimate the water demand for the
township in 2049 if the population growth rate is 2.9% per annum. {15 marks)

(30 Marks)
Question 4

Explain how you would determine the water requirement of a given crop. (30 Marks)

Question 5
a) Distinguish between agricultural and hydrological droughts. (10 marks)
b) Discuss approaches that can be implemented to mitigate drought in Eswatini.

(20 marks)
(30 Marks)




Page 3 of 3
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